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Exercise: Choosing amongst projects 

Task: Look at the below costs, benefits and net benefits of 6 different projects and 1 project combination and answer the following questions:
1. If you could choose any combination of projects from the table above, which ones would you choose / approve?
2. Now let us assume that all projects are mutually exclusive physically, except C and D which can be implemented together to obtain additional gains. Which project would you choose from the mutually exclusive alternatives A, B, C, D or C/D?
3. Now assume that, while none of the projects are mutually exclusive in a physical sense, total public expenditure (costs) cannot exceed 12 because of a budget constraint that is binding for macroeconomic reasons. Which project(s) would you choose if the projects are not mutually exclusive physically, but your total budget constraint is 12?

	
	Costs
	Benefits
	Net benefits

	Project A
	3
	12
	9

	Project B
	10
	28
	18

	Project C
	4
	8
	4

	Project D
	7
	9
	2

	Projects C and D*
	9
	23
	14

	Project E
	12
	10
	−2

	Project F
	13
	12
	−1




*Note that for projects C and D, the joint costs of adopting both projects are lower than their costs when implemented separately, possibly due to economies of scale or scope, while the net benefits from adopting both together exceed the sum of the net benefits from adopting each one independently. Such might be the case if project C were a dam that created a reservoir that could be used for recreation as well as hydroelectric power and D was a road that increased access to the reservoir. Of course, projects can also interfere with each other - for instance, the dam might reduce the benefits of a downstream recreation project. The important point is that care must be taken to determine interactions among projects, so that the combination of projects providing the greatest net benefits in aggregate can be identified.
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